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QUESTION 1

What is true about views? (More than one answer is correct)

A. A view conins da

B. Maintenance Views are not updateable

C. A view is automatically created on the dabase upon activation
D. Views can be buffered

Correct Answer: CD

QUESTION 2

What table fields are required as lock arguments in a lock object?
A. Any Primary Key Fields

B. Any Primary Key Fields and Any Secondary Key Fields

C. The Primary Key Fields

D. The Foreign Key Dependencies

Correct Answer: C

QUESTION 3

Which stement would conclude a SAP LUW? (More than one answer is correct)
A. ROLLBACK WORK

B. CALL Transaction

C. MESSAGE s101

D. COMMIT WORK

Correct Answer: AD

QUESTION 4
READ CURRENT LINE makes use of what system variables .... (More than one answer is correct)
A. SY-CUROW

B. SY-PAGNO
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C. SY-CPAGE
D. SY-INDEX

Correct Answer: AC

QUESTION 5
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Which of the following corresponds to the command entry/ ntcod?

A. SUBMIT TRANSACTION tcod

B. LEAVE PROGRAM

C. LEAVE TO TRANSACTION tcod

D. CALL TRANSACTION tcod

Correct Answer: C

QUESTION 6

Which are valid ABAP Query report types? (More than one answer is correct)

A. Ranked lists
B. Stistics

C. Basic lists
D. Select Lists
E. Summary

Correct Answer: ABC

QUESTION 7

Which of the following settings can you define for both structures and transparent tables in the ABAP Dictionary?

(Choose two.)
A. Storage type

B. Size category

C. Foreign key relationships

D. Enhancement category

Correct Answer: CD
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QUESTION 8

What steps would be required to define a bstrip in your Dialog program? (More than one answer is correct)
A. Place a bstrip object on your screen using Screen Painter

B. Define Pushbuttons on the subscreen area

C. Name your bstrip object

D. Declare a bstrip control in your global top include

Correct Answer: ACD

QUESTION 9

You have been asked to review the following expression, which processes character strings:
result = find( val = \'abapABAP\\

sub = \VAW'

occ=2

case = \\'X\\'.....).

What is the expected value of result?

Al

B.2

C.4D.6

Correct Answer: D

QUESTION 10

What is needed in your bstrip to have scrolling ke place on the application server?
A. Assign Function Type = Space

B. Assign Function Code = P

C. Assign Function Code = Space

D. Assign Function Type = P

Correct Answer: A
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QUESTION 11

A class is defined as follows:

CLASS my_class DEFINITION.

PUBLIC SECTION.

METHODS do_something.

EVENTS state_changed.

CLASS-METHODS static1.

PRIVATE SECTION.

TYPES t_table TYPE STANDARD TABLE OF t001 WITH NON-UNIQUE DEFAULT KEY.
CONSTANTS gc_const TYPE | VALUE 1.

ENDCLASS.

Which components of the class can static method staticl address directly? (Choose two.)
A. The state_changed event.

B. The t_table type.

C. The gc_const constant.

D. The do_something method.

Correct Answer: BC

QUESTION 12

How many stistics or ranked lists allowed per query?
A. 10

B. Unlimited

C.9

D.1

Correct Answer: C

QUESTION 13
What is true about a structure?

A. The STRUCTURES stement is used to define a structure in a program
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B. Structures conin da beyond the runtime of a program.
C. The BLES stement is used to define a structure in a program
D. A physical dabase ble is created for a structure

Correct Answer: C

QUESTION 14

Which of the following features do you have to consider when you use shared objects? (Choose three.)
A. Data is saved as attributes of objects

B. Concurrent write accesses are supported

C. Memory bottlenecks result in runtime errors and have to be caught

D. Concurrent read accesses are supported

E. Data is saved as tables of objects

Correct Answer: ACD

QUESTION 15

Defining a Lock Object as Exclusive would specify what kind of locking

A. Prevents a single user with read-write access from atining further locks to the same set of ble rows. This is useful

when you are using recursive routines to make updates.

B. Gives a single user read and writes access to the specified ble rows. No other users may access the rows.

C. Allows multiple users to access the specified ble rows, but with read-access only. No write- accesses are allowed at

any time.

Correct Answer: B
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